Draw a titration curve for the titration of 300 mM NaOH into 500 mL of 26 mM pyrimidium (pka 5.25). Make
sure to label the x and y axis for the three important points we talked about in class.



Calculate the pH if 15 mL of 250 mM NaOH is added to 750 mL of 20 mM pyridium.

Calculate the pH if 25 mL of 1.00 M HCl is added to a solution 200 mL of 300 mM pyridinium buffered at pH
6.0.
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Draw a titration curve for the titration of 300 mM NaOH into 500 mL of 26 mM pyrimidium (pka 5.25). Make
sure to label the x and y axis for the three important points we talked about in class.
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Calculate the pH if 15 mL of 250 mM NaOH is added to 750 mL of 20 mM pyridium.
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Calculate the pH if 25 mL of 1.00 M HCI is added to a solution 200 mL of 300 mM pyridinium buffered at pH
-
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